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[bookmark: _GoBack]SECTION I – LANGUAGE COMPREHENSION (15 x 1 = 15 points)
Which of the following sentences best expresses the meaning in the given sentence?

1. Because they aren't used to danger from animals on the ground, penguins exhibit no fear of humans.
A) No land animals bother penguins, so humans should not harm them if they see them.
B) Threats for penguins come from the sea, not land, but humans are the exception to this.
C) Not having been attacked while on land, penguins are not afraid when they meet humans.
D) Penguins have never got accustomed to threats outside the sea, so they have trouble getting used to people.

2. Each penguin has a distinct call, allowing individuals to find their mate and their chicks even in large groups.
A) It is possible for a penguin to locate its chicks and mate in a crowd of penguins due to the unique call of each one.
B) Since all penguins don’t have the same call, there is a chance for a penguin to identify its mate or chick in a crowd.
C) A large group of penguins permits a single penguin to make its call, and this results in the penguin finding its mate or chicks.
D) It has been discovered that the sound of each penguin is different than that of its mate, its chicks, and even every other penguin in a large group.

3. Penguins gather in groups to keep warm, rotating positions to enable each penguin to have a turn in the center of the heat pack.
A) Penguins are unable to stay warm unless they form heat packs where the penguins in the center keep turning around.
B) Groups of penguins form heat packs, and penguins struggle to move to the center so that they can warm themselves up.
C) Penguins produce a lot of heat by constantly changing the bird in the center of the group, or heat pack, so they stay warm even in cold weather. 
D) The reason why penguins come together in groups is for warmth, and they take turns being in the middle, providing every penguin a chance to be in the warm spot.

4. Penguins generally share duties to keep their eggs warm, and one turn can last for weeks as the other member of the pair feeds at sea.
A) Most types of penguins split duties by having one of the mates hunt in the sea for weeks and having the other keep the eggs from getting cold.
B) Mates that take turns warming their eggs increase their chance of success, so one penguin looks after the eggs while the other collects food at sea. 
C) In general, penguins divide the task of watching eggs; one warms the eggs while the other finds food at sea, sometimes for a period of a few weeks at a time.
D) Making sure eggs stay warm is often a shared task for penguins, but one of the mate’s may have to watch the eggs for the entire time if the other takes a few weeks to find food.

5. The first public bus line opened in Paris in 1662 and was enjoying growing popularity until fares were increased and access to the service was restricted to the upper class. 
A) The public would have been willing to use the first bus line, introduced in Paris in 1662, but the cost and conflict with the upper class limited its success.
B) The expense and the refusal of the upper class to ride on the same bus as others prevented the first public bus line, started in Paris in 1662, from being a commercial success.
C) Beginning operations in France in 1662, the first bus line for the public was gaining more and more users, but then the price was raised and its use was limited to higher class people.
D) Having opened in Paris in 1662, the world’s first public bus line was unable to maintain regular customers when it increased the cost of tickets and prevented some people in the upper class from using it. 


6. In 1828, another public bus line in Paris went bankrupt when the fare collectors kept too much of the money.
A) In 1828 in Paris, fare collectors could have kept a large portion of the money, making one more public bus line collapse.
B) Fare collectors holding on to more money than they should have kept led to the fall of another public bus line in Paris in 1828.
C) People collecting money from passengers must have been paid high wages as one more public bus line went out of business in Paris in 1828.
D) Trying to get enough money from passengers must have been difficult, and fare collectors kept a great deal of it, causing another public bus line in Paris in 1828 to be unsuccessful.

7. Tramways came out around 1860 shortly after steel had begun to be mass produced and, compared to other forms of public transportation, they were faster and more comfortable.
A) Gaining customers while steel was becoming widespread in the early 1860s, tramways were well-liked both for their quickness and smooth ride.
B) Public transport had improved in speed and comfort by the time tramways came into use around 1860, when the steel industry was developing quickly.
C) First used about 1860, a bit after steel was manufactured in large quantities, tramways moved more quickly and gave a more pleasant ride than other forms of public transport.
D) Public transport which arrived faster and offered greater comfort was needed around 1860, and tramways, which made use of large amounts of steel, provided these benefits.

8. Tramways with metal wheels on steel rails allowed horses to pull a greater load with less effort compared with earlier forms of transport.
A) Horses were made to pull heavier loads even after tramways started to make use of steel rails and metal wheels.
B) After tramways using metal wheels on steel rails were introduced, horses could transport more goods yet did not work as hard.
C) The first forms of transport were hard on horses, but tramways had metal wheels and steel rails, greatly reducing their burden.
D) Putting metal wheels on steel rails made the development of tramways possible and decreased the number of horses used for transport.

9. In ancient Roman cities, a large part of the population had to buy their food from street vendors since their homes did not have any cooking facilities.
A) Due to the lack of cooking facilities in ancient Roman homes, it was necessary for most city dwellers to prepare food on the street.
B) Living in houses where they could not make food, many residents of ancient Roman cities needed to get food from street sellers.
C) The majority of ancient Romans preferred food bought on the street to food made in their homes due to the poor condition of their kitchens.
D) The amount of food that ancient Romans bought from the street shows that most of them must not have been able to cook well in their homes.

10. Fast food has always been associated with urban development, and whenever highly-populated areas develop, fast food is present.
A) Fast food brings about expanding cities, and places with large populations never lack fast food providers.
B) Fast food and growing cities have always been linked, and fast food is always available in places where population grows.
C) Since fast food and urban development are closely related, the higher the population, the greater the variety of fast food.
D) There is a connection between bigger cities and fast food, and you can buy fast food any time of the day in well-developed urban areas.

11. Worries of an obesity epidemic have inspired government officials to restrict fast-food restaurants.
A) Limits on fast-food restaurants are a result of concerns by government over the quickly increasing rate of obesity.
B) A growing number of obese people are putting pressure on government to put restrictions on fast-food restaurants.
C) Government is annoyed with the fast-food industry and has been trying to find a solution to the large number of obesity cases.
D) Governments have realized the consequences of obesity and have identified fast-food restaurants as the source of the problem.

12. Youth find money from jobs in the fast food industry appealing but fail to consider that the time spent on these jobs does little to help them build a successful career.
A) It is exciting for young people to earn their own money from a job in the fast food industry while taking the first step toward a profitable career.
B) Having a job in the fast food industry encourages young people to spend too much money while also preventing them from focusing on their long-term career. 
C) Although youth benefit from the wages they get from a job in the fast food industry, their earnings are not enough to support them if they continue with these jobs throughout their career.  
D) Jobs in the fast food industry provide money for young people, attracting them to these jobs, but they do not think about the fact that experience from these jobs does almost nothing for them in the long term.

13. It is very important for astronauts to exercise while in orbit in order to minimize the loss of muscle mass. 
A) When orbiting the Earth, a limited exercise program is essential for astronauts wanting to remain strong. 
B) Exercise for astronauts in orbit is of great importance due to the importance of physical strength in their work.
C) That astronauts work out while orbiting the Earth is crucial for the prevention of loss of muscle mass.
D) What is critical for astronauts in space is that they do not put off their exercise program, which focuses on muscle building. 

14. The fear that the first astronauts to the Moon might have acquired a dangerous disease led them to be isolated for 21 days when they returned to Earth.
A) Fearing that the first astronauts who went to the Moon could be bringing back a serious sickness, authorities kept them in isolation for their first 21 days back on Earth.
B) The belief that the first astronauts to the moon had an infectious disease came about after they were made to remain separate for 21 days after their return to Earth.
C) The reason the first lunar astronauts spent 21 days in isolation upon returning to Earth may have been the fear of threatening diseases that were thought to exist on the Moon.
D) Hoping to learn if the illness brought back by the astronauts who had made the first trip to the Moon would be threatening, the government forced them to remain separate for 21 days after coming back to Earth.

15. Many different partners are contributing to the design and construction of the International Space Station, which makes it a symbol of cooperation in space exploration.
A) Many different teams took part in building the International Space station, which will facilitate competition on space projects and gains in space exploration.
B) The International Space Station was too complex a project for any one country to attempt, so its layout and construction were done by an international team.
C) The unique factor about the International Space Station is the number of people who took part in planning and building it, making it one of the largest projects ever. 
D) The design and building of the International Space Station, which has many contributors, are positive examples of how diverse groups can work together to explore space.

 SECTION II – READING COMPREHENSION (30 x 1.5 = 45 points)
Read each text and choose the best alternative that answers each question.

Text 1						Penguins

[image: C:\Users\user\AppData\Local\Microsoft\Windows\INetCache\Content.Word\baby-pinguin.jpg]1	Penguins, which are a group of aquatic, flightless birds living almost exclusively in Antarctica, breed by producing eggs. Penguins sit on their eggs in order to keep them warm until they hatch, which is a process called incubation. Both parents take turns in incubating the eggs, which typically lasts for eight weeks, although larger eggs from larger penguins might take a little longer. When the chick is fully developed, it carefully chisels its way out of the egg using its tiny and sharp beak. Upon emerging, the chicks are dependent on their parents to protect them from some dangers such as predators and for their daily supply of food. Adults recognize and feed only their own chick, which they are able to identify by its distinctive call.

2	As in the incubation stage, both parents care for their young by alternating between the roles of food gatherer and guardian of the nest. The young are always in close proximity to their parents, either sitting on their parents' feet or under their bellies. Since the chicks cannot be left unprotected, they are also gathered together in groups, often tightly packed together for extra security and warmth. As days go by, a thick protective coat of soft feathers begins to grow which keeps the chicks warm and slowly allows them to seek independence from the nest within confined limits on the ice. As the chicks rapidly put on weight, providing adequate quantities of food becomes a problem, so both parents need to hunt. 

[image: http://www.awesomelycute.com/gallery/2015/05/cute-baby-penguin-10.jpg]3	When the chicks reach a size approximating their parents, they lose their initial coat of feathers, a process called molting. New feathers grow beneath the old ones, and when the new feathers are completely grown, they push the old ones out. The time from birth to the stage when molting begins can vary from about six weeks to double that time in most species, but some penguin groups take many months. When this process is over, penguins are ready to take their first trips out to sea. The first few weeks at sea are critical. The young need to quickly learn where the best places to catch their food are and how to avoid the predators that stay hidden in the sea. The research that has been done so far indicates that less than one half of the young penguins that go out to sea each year survive into adulthood. 

4	At the one-year stage, molting happens again, at which point the young start to look very much like their parents. At age two, most species of penguin are biologically programmed to turn their attention to breeding. Breeding then takes place every year. Penguins in the wild probably live up to about 20 years of age, although this number is decreasing due to various factors. Historians believe that for centuries indigenous peoples have hunted some species of penguins and taken their eggs. Today, colonies of penguins have been affected by building activities and road construction. Also sea ice, which provides shelter and feeding areas for penguins, has been shrinking rapidly due to an increase in the average temperature of the seas, which causes them to have a shorter life. 









16. The article is mainly about ----. 
A) the breeding habits of penguins 
B) the life cycle of penguins 
C) diet and eating habits of penguins 
D) physical characteristics of penguins 

17. The word chisels in paragraph 1 could best be replaced by ----. 
A) empties
B) jumps
C) cuts 
D) shakes

18. One can understand from paragraph 1 that ----. 
A) the length of incubation may depend on the size of the egg
B) parents distinguish their offspring by smelling them
C) predators that could harm chicks are usually birds 
D) baby penguins are sometimes fed by other chicks 

19. According to paragraph 2, before chicks grow their feathers, both parents ----. 
A) abandon their young when its protective feathers fully grow
B) incubate new eggs when their chick becomes independent of them
C) take turns collecting food and providing protection for their growing young
D) also need security and warmth to survive and feed their offspring

20. It is stated in paragraph 3 that ----. 
A) molting is a feather-changing process that lasts for at least six weeks   
B) when molting ends, penguins leave the nest for the sea
C) molting begins by the time penguins reach three months of age at latest 
D) many months after molting, penguins change their feathers 

21. One CANNOT infer from paragraph 4 that one of the reasons why average life expectancy of penguins is decreasing is ----. 
A) predators
B) climate change 
C) loss of habitat  
D) human impact

22. Which one of the following statements is FALSE according to the text? 
A) Parents can recognize the sound of their own chicks.
B) Because growing penguins eat more and more, both parents need to gather food.
C) Many young penguins that go to sea die there. 
D) Penguins, which breed every year, can produce young before two years of age.






Text 2	    		      			Trams in Melbourne 

1	After World War II, it seemed as though motorised transport would dominate all forms of transport. However, people had little idea of the traffic congestion that would arise in cities throughout the world due to motorized transport. The tram was seen as old-fashioned and a symbol of past ways of doing things. Consequently, many European cities merely tore up their tramlines and laid asphalt roads, whose smooth and dust free surface allowed buses to run easily. There was one city which resisted the trend to shut down its tramway network: Melbourne, Australia. Melbourne was distinctive due to its preservation of trams, a policy decision that has proved to be highly beneficial. Afterward, other cities bitterly regretted their phasing out of trams in the middle of the century, only to plan for their reintroduction decades later.

2	Sir Robert Risson, the Chairman of the Melbourne and Metropolitan Tramways Board (MMTB), successfully argued that trams should be retained, despite press campaigns for their closure. Unlike tramways in most European cities, Melbourne’s tramways undertook an expansion and modernization program following World War II thanks to Risson. In the 1940s, he introduced modern vehicles and utilized mass-concrete tram track construction methods. He stated that any government wishing to abolish trams would see the loss of that considerable investment. Risson's fight for trams meant that the Bourke St. bus service, which came into use in place of a tramline, was replaced by a new tram in time for the Melbourne Olympics of 1956. 

[image: http://www.thecollectormm.com.au/gallery/photography/Trams/slides/BatmanTerminus.jpg]3	Conserving trams was particularly beneficial for Melbourne because the city's wide streets and geometric street pattern made trams more practical than in many other cities. Also, the infrastructure of the trams and vehicles were in good condition as they were maintained by Risson in the 1930s before World War II. This shattered the argument used by many other cities, which was that renewal of the tram system would cost more than replacing it with buses. However, trams in Melbourne didn’t have to be renewed at least for 30 years. Risson, who had to deal with disputes regarding trams, was helped in his efforts by local unions which insisted that if a tram were to be replaced by a bus, it would need to be operated by a two-man crew. After the unions made the government do this, the economics were not in favor of the bus any more.  

4	Even by the mid-70s, it had become clear how insightful Risson had been. By that time, as other cities where tram lines were slowly replaced by bus lines became more and more adversely affected by traffic and air pollution, Melbourne was convinced that its decision to retain its trams had been the correct one. Even conservative governments, who were no friends of the MMTB and did not grant heavy financial aid to public transport, viewed the trams as valuable city assets and agreed to further investments in new trams. As the century closed, new tram designs were still being introduced and that trend has continued in the early years of this century.











23. It is stated in paragraph 1 that ----.
A) asphalt kept the dust down and created a smooth surface for trams  
B) many European cities had already replaced their trams with buses by the end of World War II
C) trams proved to be very useful in Melbourne despite being poorly looked after 
D) in a time when trams were falling out of fashion, Melbourne preserved them

24. The word their in paragraph 1 refers to ----. 
A) trams
B) other cities
C) asphalt roads
D) tramlines

25. According to paragraph 2, keeping trams in the post-war era was a policy strongly supported by ----. 
A) MMTB
B) Melbourne's press
C) European cities
D) governments

26. It is stated in paragraph 2 that the new Bourke Street tram of 1956 ----. 
A) was replaced by a bus service
B) went all the way to the Olympics
C) led to a loss of government investment
D) was a result of Risson's policy

27. The word shattered in paragraph 3 is closest in meaning to ----.
A) established
B) destroyed 
C) reported
D) claimed  

28. One can infer from paragraph 3 that ----. 
A) the width of Melbourne’s streets was a bit narrower than the width of streets in most cities
B) buses had to have two operators despite the efforts of some unions
C) Risson wasn’t the only one who deserved praise for saving Melbourne’s trams
D) it wasn’t necessary to renovate trams in other cities as they were already in good condition 

29. Which statement is FALSE according to paragraph 4?
A) There was traffic congestion in cities where tramlines were abandoned in favor of buses. 
B) The appearance of trams has changed over the years.
C) Trams had to be reintroduced into Melbourne.
D) Conservative governments spent money on trams. 






Text 3			McDonald’s

[image: http://pbs.twimg.com/media/CVuXPWbU8AAaDNz.jpg]1	The Great Depression, lasting from 1929 to 1939, was the deepest and longest-lasting economic downturn in the history of US. It strangled the working-class towns of New Hampshire, in the eastern US, so a pair of young brothers headed west from one of these towns with dreams of making it big as Hollywood producers. However, the only work that Richard and Maurice McDonald could ever land in the film industry was pushing around movie sets, and the small cinema they opened in suburban Los Angeles never took off. 37-year-old Maurice and 31-year-old Richard were wondering if their hopes of becoming millionaires by the time they turned 50 were just delusions when they opened a tiny drive-in restaurant in California in 1940. They probably wouldn’t have guessed that their new restaurant would be the ticket to fulfilling their American dreams.

2	The original McDonald’s had little resemblance to today’s widespread “golden arches”, beginning with the menu. The future fast-food giant started out by serving barbecue slow-cooked for hours and the eclectic 25-item menu included everything from tamales and chili to peanut butter and jelly sandwiches to ham and baked beans. This octagon-shaped drive-in barbecue restaurant did not include any inside seating; so carhops wearing majorette boots and short skirts served customers who pulled into its parking lot. As the brothers’ business caught on, sales exceeded $200,000 a year, and as many as 125 cars filled its parking lot each weekend.

3	After World War II, drive-in competition in California grew, and the brothers closed their doors for three months. They had decided to overtake other businesses by turning into a self-service restaurant. They fired their 20 carhops and got rid of their silverware and plates for paper wrappings and cups so that they no longer needed a dishwasher and simplified their menu to just nine items: hamburgers, cheeseburgers, three soft drink flavors, milk, coffee, potato chips and pie. The new concept was based on speed, lower prices and volume. Taking a cue from Henry Ford’s assembly line production of automobiles, the McDonald brothers developed the “Speedee Service System” and mechanized the kitchen. Instead of using a skilled cook to make food, it used 12 unskilled workers, each of whom specialized in specific tasks. This allowed McDonald’s to prepare lots of food quickly and inexpensively, and it could be done even before an order was placed. 

4	 The business began to take off with families and businessmen attracted by the cheap, 15-cent hamburgers and low-cost menu. With lower costs for their workers and revenues increasing to $350,000 a year by the early 1950s, the McDonald brothers saw their profits double. They had already established a few franchises in California and Arizona by the time a milkshake mixer salesman named Ray Kroc visited California in 1954. Kroc couldn’t understand why the McDonalds could possibly need eight Multi-Mixers, capable of making 40 milkshakes at once, for just one location until he set eyes on the operation. Seeing the potential in the business, the salesman quickly became the buyer. Kroc bought the rights to franchise the brothers’ restaurants across the country, and in 1955 he opened his first McDonald’s in Illinois. The relationship between Kroc and the McDonald brothers grew very tense as the aggressive salesman and the conservative brothers, whose desire was to maintain only a small number of restaurants, had different philosophies about how to run their business. In 1961, Kroc purchased the entire company from the McDonald brothers for $2.7 million. While the name of the chain may have been McDonald’s, the design of the restaurants quickly became Kroc’s. The brothers who lent their name to the business and pioneered the fast-food concept faded to the background. After selling the business, the founders kept their original California restaurant, to the annoyance of Kroc. To gain his revenge, Kroc opened a McDonald’s around the block that eventually drove the brothers out of business.







30. From paragraph 1 we can understand that Richard and Maurice McDonald ---.
A) ran a small but profitable cinema in suburban Los Angeles before opening a restaurant in California
B) were once reputable actors who wanted to become millionaires in the Hollywood film industry 
C) moved to New Hampshire during the Great Depression in the hopes of becoming rich
D) were not initially aware that their small drive-in restaurant in California would make them wealthy

31. The word eclectic in paragraph 2 is closest in meaning to ---.
A) expensive
B) diverse
C) equal
D) unhealthy 

32. According to paragraph 2, it is TRUE about the original McDonalds that ---.
A) the first McDonald’s and today’s McDonald’s restaurants were alike in design
B) carhops delivered the customers’ orders by cars
C) some customers had to be served in their cars as there weren’t enough seats in the drive-in barbecue joint
D) meat was not cooked as it is in today’s McDonald’s restaurants  

33. According to paragraph 3, after World War II, ---.
A) many drive-in restaurants in California closed their doors due to financial problems
B) the McDonald brothers opened a restaurant with improved service and a new concept
C) the McDonald brothers eliminated wait staff, plates, and dining options in favor of assembly-line burgers served in wrappings
D) a new carhop staff of 12 people were recruited at the new McDonald’s as the former ones were fired

34. According to paragraph 3, it is FALSE that in the “Speedee Service System” kitchen, ----.
A) a simplified menu and food preparation using assembly line principles allowed the restaurant to sell cheap hamburgers  
B) a large variety of dishes were prepared relatively quickly
C) the quick ways the food was prepared created maximum productivity levels 
D) each of the crew did one small, specific step in the food-preparation process

35. Which of the following can be understood from paragraph 4 about Roy Kroc?
A) His determination and ambition in business 
B) The high cost of the Multi-Mixers he sold 			
C) His fondness for hamburgers and chips
D) The value of his fortune 						

36. From paragraph 4, it CANNOT be inferred that ---.
A) a Multi-Mixer that Kroc sold to McDonald’s was capable of preparing milkshakes for a family of five at once
B) Kroc, puzzled by the McDonald brothers’ Multi-Mixer orders, visited the McDonald’s restaurant in person
C) the McDonald brothers were unwilling to put effort into building a nationwide chain of restaurants
D) Kroc made a $2.7-million-deal with McDonald brothers’ to franchise their restaurant throughout the country 

37. According to the text, it is clear that the McDonald brothers ---.
A) were the first to open a drive-in restaurant in California 
B) recruited males for the carhop staff in the original McDonald’s 
C) simplified the menu after the World War II due to widespread food shortages in the U.S.
D) could not compete when Kroc’s McDonald’s opened near their restaurant 


Text 4 						Apollo 13

“Houston [the command center], we’ve had a problem” – Astronaut James Lovell, on April 13, 1970, 56 hours into the Apollo 13 mission

1	While planning moon landings, NASA had to decide which method to use to reach the Moon. This decision ended up having an important effect on the survival of the Apollo 13 crew. An explosion in an oxygen tank two days into the journey on the Apollo 13 mission prevented the crew from landing on the moon and started one of the greatest rescue missions in human exploration. One of the main reasons the three crew members were saved was the decision made years earlier to use a “lunar orbit rendezvous” to reach the Moon. 
[image: (Credit: Nasa)]
2	Three ways to reach the Moon were investigated. One method, a ‘direct approach’, meant taking off from Earth, going straight to the Moon, landing, and then returning to Earth in the same craft. This would have required an enormous rocket. Many senior engineers on the mission team favored this method. However, the huge size of the rocket needed to go directly to the Moon would have meant using much more fuel, further increasing the expense of the mission. As a result, the direct approach was discarded, but only after heated debate. If the oxygen tank had exploded at such a great distance from Earth in a direct-approach journey, the crew certainly would have died because of insufficient battery reserves to produce the oxygen they needed. The spacecraft would only have had enough oxygen for the astronauts to survive a 12 to 15-hour journey.

3	The alternative to the direct approach was to perform one of two forms of rendezvous. In a rendezvous, the craft has a modular design with a landing module and a command module. These modules orbit around either the Earth or the Moon, after that they separate, and then only one craft lands on the Moon’s surface. The benefit of this method is that you need a smaller rocket to leave Earth’s atmosphere, and the small lunar lander benefits from the Moon’s low gravity, which saves fuel.

4	If an ‘Earth orbit rendezvous’ approach had been used, the crew of the Apollo 13 mission would have transferred from the command module to the lunar module from within Earth’s orbit and then travelled toward the Moon. This design included a separate rocket to slow the craft down as it descended to the lunar surface. This rocket wouldn’t have been fired when the explosion occurred, providing the crew a slight advantage; they could have used it to speed up their return to Earth. But a fatal factor would have remained: too little oxygen. The return to Earth would still have required too much time.

5	The final approach, the “lunar orbit rendezvous” approach, was to travel to the Moon in a small craft with two modules that would separate in lunar orbit, come back together again, and then travel back to Earth. The explosion on the Apollo 13 happened before the command module and lunar module separated, so the crew was still able to use the lunar module. The command module computer system was required for a safe re-entry, and the crew was able to recharge it using the fuel cells in the lunar module. The cells could also be used to produce oxygen, the other critical need for survival.

6	 “The reaches of space never seemed so great until Apollo 13 had an explosion 250,000 miles from Earth,” said President Nixon after the safe return of the Apollo 13 crew. “To the crew and to those on the ground who did such a magnificent job of guiding Apollo 13 safely back, the whole world says ‘well done’.” He should have also thanked the engineers who defended the lunar orbit rendezvous approach when it was, at first, an unpopular thing to do.


38. The text mainly discusses ----.
A) the amazing efforts made to save the Apollo 13 crew and the attention they received
B) reasons why only the “lunar orbit rendezvous” approach was able to save the Apollo 13 crew
C) mistakes made in the design of the Apollo 13 and ways the crew overcame these errors
D) how the struggles on the Apollo 13 mission led to safer spacecraft in later missions 

39. The word discarded in paragraph 2 is closest in meaning to ----.
A) delayed
B) improved
C) installed
D) rejected

40. According to paragraph 2, the reason a direct approach was not used was because of its ----.
A) cost
B) danger
C) route
D) speed

41. Paragraph 2 states the direct approach would have been fatal ----.
A) if the batteries had not been fully charged
B) if an explosion had taken place at any time in the journey
C) and the cause of death would have been a lack of oxygen
D) although the crew may have nearly made it back to Earth

42. From paragraph 3, the reader can understand that ----.
A) there are actually more than two types of rendezvous approaches
B) the landing in a rendezvous approach is safer than the landing in a direct approach
C) each of the modules in a rendezvous approach can be used to reach the moon’s surface
D) both types of rendezvous approaches reduce fuel use

43. According to paragraph 4, if an ‘Earth orbit rendezvous’ approach had been used, there would have been a rocket that had not been fired yet, -----.
A) but even using the rocket the astronauts could not have got back to Earth in time
B) but the astronauts would not have been able to fire the rocket so it would have been of no use to them
C) so there would have been a slight chance that the astronauts could have made a successful return to Earth
D) so the astronauts may have tried to make a moon landing as it was their only hope for survival

44. The word it in paragraph 5 refers to ----.
A) the Apollo 13
B) the lunar module
C) the command module computer system
D) re-entry

45. In paragraph 6, ----
A) President Nixon seems to be unaware that the crew had an important part in bringing the Apollo 13 back to Earth safely
B) President Nixon fails to mention that the approach method which was chosen was a key factor in the crew’s survival
C) the writer thinks President Nixon is brave for praising the astronauts even though their failed mission was not popular
D) the writer thinks President Nixon need not have spent so much time praising the astronauts of a failed mission
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